VYUKOVA VERZE ARCHICADU




VYUKOVA VERZE ARCHICADU

N NAVITEZNE pLAN

4

1. V.24 m,k.v.3,5m
k.v.parteru:4,5m
pocet pater: 6 np + 2 pp
Sitka domu: 25 m
hloubka domu: 15 m
pocet doma: 10

2. v.:24m,k.v.3,5m
k. v. parteru: 4,5 m
pocCet pater: 6 np + 2 pp
Sirka domu: 25 m
hloubka domu: 15 m
pocet domi: 10

3. v..6,5m
pocCet pater: 1 np+ 1 pp
plocha: 2 200 m?

4, v.:24m,k.v.:3,5m
v. parteru: 4,5 m
pocet pater: 6 np + 2 pp
plocha: 600 m?

5. v.:24m,k.v.:3,5m
V. parteru: 4,5 m
pocet pater: 6 np + 2 pp
plocha: 600 m?

6. v..24m,k.v.:3,5m
v. parteru: 4,5 m
pocet pater: 6 np + 2 pp
plocha: 1365 m?

7. v.:27m,k.v.:4,5m
pocet pater: 6 np + 1 pp
plocha: 1315 m?

8. v.:27m,k.v.:4,5m
pocet pater: 6 np + 1 pp
plocha: 1860 m?

8. v.5m
pocet pater: 1 np
plocha: 350 m?
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